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Preamble:

I accept the call to responsibility that comes with the many rights and freedoms that | have been privileged to inherit from the sacrifice and suffering of

those who came before me. | appreciate that the rights enshrined in the Constitution of the Republic of South Africa are inseparable from my
duties and responsibilities to others. Therefore | accept that with every right comes a set of responsibilities.

RESPONSIBILITY IN ENSURING THE RIGHT...

that we are all the same.

Our country’s motto: !KE E: /XARRA //
KE, meaning“Diverse people unite”, calls
on all of us to build a common sense of
belongingand national pride, celebrating
the very diversity which makes us who
we are. It also calls on us to extend our
friendship and warmth to all nations
and all the peoples of the world in our
endeavour to build a better world.

TO LIVE IN A SAFE
ENVIRONMENT

« promote sustainable development,and the
conservation and preservation of the
natural environment.

- protect animal and plant-life, as well as the
responsibility to prevent pollution.

- not to litter, and to ensure that our homes,
schools, streets and other public places are
kept neat and tidy.

- in the context of climate change, we are
also obliged to ensure we do not waste
scarce resources like water and electricity.

TO FREEDOM OF

n
REPUBLIC OF SOUTH AFRICA

RELIGION, BELIEF AND
OPINION

- allow others to choose and practise the
religion of their choice, and to hold their
own beliefs and opinions, without fear or
prejudice.

- respect the beliefs and opinions of others,
and their right to express these, even when
we may strongly disagree with these beliefs
and opinions.That is what it means to be a
free democracy.

TO FAMILY OR
PARENTAL CARE

- honourand respect my parents,and to help
them.

« to be kind and loyal to my family, to my
brothers and sisters, my grandparents and
all my relatives.

- recognise that love means long-term
commitment, and the responsibility to
establish strong and loving families.

O HUMAN DIGNITY

- treat people with reverence, respect and
dignity as we all belong to the human
race.

- to be kind, compassionate and sensitive
to every human being, including greeting
them warmly and speaking to them

courteously.

WORK

worthwhile only comes with effort.

« thisrightmustneverbeusedforexploitation
by exposing children to child labour.

TO FREEDOM AND

SECURITY OF THE
PERSON

- not hurt, bully orintimidate others or allow
others to do so.

- solve any conflict in a peaceful manner.

- to take action to protect my safety and the
safety of others.

TO FREEDOM OF
EXPRESSION

- express views which do not advocate
hatred, or are based on prejudices with
regard to race, ethnicity, gender or
religion.

- we must therefore take responsibility to
ensure this right is not abused by ourselves
or others, to not tell or spread lies, and to
ensure others are not insulted or have their
feelings hurt.

TO EDUCATION

- attend school regularly, to learn, and to
work hard.

- cooperate respectfully with teachers and
fellow learners.

- adheretotherulesandthe Code of Conduct
of the school.

AND PLACES ON MY TEACHERS THE
RESPONSIBILITY TO:
- promote and reflect the culture of learning

and teaching in giving effect to this right.
« to eliminate unprofessional behaviour.

- treat every person equally and fairly.

« notto discriminate unfairly against anyone
on the basis of race, gender, sex, pregnancy,
marital status, ethnic or social origin,
colour, sexual orientation, age, disability,
religion, conscience, belief, culture, class,

language or birth.

TO OWN PROPERTY

- respect the property of others.

- take pride in and protect both private and
public property, and not to take what
belongs to others.

- give generously to charity and good causes,

where | am able to do so.

TO CITIZENSHIP

- to participate actively in the activities of
the community and affairs of the country.

- obey the laws of our country, ensuring
that others do so as well.

- contribute in every possible way to
making South Africa a great country.

TO LIFE

- protect and defend the lives of others.

- not endanger the lives of others by
carrying dangerous weapons or by acting
recklessly or disobeying our rules and
laws.

- live a healthy life, by exercising, eating
correctly, by not smoking, taking alcohol,
ortaking drugs, orindulging in irresponsible
behaviour that may result in my
being infected or infecting others with
diseases such as HIV and AIDS.

ND CONCURRENTLY PLACES ON MY PAREN
AND CAREGIVERS THE RESPONSIBILITY TO:

I

- ensure that | attend school and receive
their support.

«ensure that | participate in school
activities.

- create a home environment conducive
to studying.

Conclusion:i accept the call of this Bill of Responsibilities, and commit to taking my rightful place as an active, responsible citizen of South Africa.

By assuming these responsibilities | will contribute to building the kind of society which will make me proud to be a South African.

This Bill outlines the responsibilities that flow from each of the rights enshrined in the

Constitution of the Re

basic education

public of South Africa.

South African Interfaith Council

LEADSA

www.leadsa.co.za
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The structure of a worksheet

Worksheet number Worksheet title
(Revision R1 to R16,
Ordinary 1 to 144)

Ay

‘ 31 ‘Adding by filing the tens

Topic introduction
(Text and pictures to help you think about hich ‘“"‘E'sle""e'”"g‘"“‘" L CCLIE LD
and discuss the topic of the worksheet.) Br7==loriors=
1o+4=|;| or7+7=|;|
9+2=|;|or10+|=|;|
10+2:|;| or7+5:|;|
1. Fill up the tens.
- BN N SN oo oo
Term indicator = o = o ’
(There are forty worksheets per term.) 1 1
lesa =0 fosi0 | =10 .
a3+ =] b5+ =[] c2+]-
. a.6+J-J e 1+J- 1 r.7+ -0
Questions oo 0-0 v e 0.0 0.0
2. Fill up the tens.
- =40 - =30 Find another five combinations
- =20 - -70 that will add up to 100.
Colour code for content area i - E -
- (e =0 [save | =n0
Content Side bar colour [pos | - Jusa| -e
° o c.32+|;|=|;| b,46+l;|=|;| c.54+|;|=|;|
Revision Purple 0 J- ] oo -] NN
Number Turquoise noe-d-U veooL-LJ

Patterns and 8 6 7 8 9 10 1 92 98 14
functions (algebra)
Space and shape
(geometry)
Measurement

Data handling

Electric blue

Language colour code:
Afrikaans (Red), English (Blue)

3. Fill up the hundreds.

Example: 486

Example frame (in yellow)
‘0.368 ‘ ‘b 371 ‘c 684 ‘
d.519 e. 225 f. 568
\ | [ | \
‘(1.274 ‘ ‘h 479 ‘ i. 383 ‘
4. Calculate the following:

Example:

Calculate 2 486 + 48

2486 + 48

= (2486 +14) - 14+ 48

=2500 + (48— 14)

=2500+34

=2534
a.3526+97 = b. 6537 +84= C.4833+95= " . .

‘ ‘ ‘ ‘ Fun/challenge/problem solving activity
(This is an end of worksheet activity that may include
d.1789+39= ©.2786+56= f.8976+41 = . o ene
fun or challenging activities that can also be shared
‘ ‘ ‘ ‘ with parents or brothers and sisters at home.)
g.4324+98= h.8159 +62= i.6847 +73=
The concert
Z'g‘;:u;:“e:p\e ‘came fo see a concert. There were 68 security guards. How many people were in the Teacher qssessmeni rq ting'
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48 Revision

Key concepts from Grade 4

WORKSHEETS R1 TO R16




Note that the first
16 worksheets
will be revision
activities.

Base Ten Counting

Do not count the

How many oranges are there? 0000000000 Indggg:f ilh‘::‘\ngse s\
See how fast can you count them. 2000000000 : i
29999999009
0290999299099 ‘;
2909929909099
2992929290000
200092920000
OQOOOOOOQO

20000099303 3333333333

1. Count the oranges.

00000

2999900000

O
v
o
@
Q
(¥}
Q@
(%
Q@
v
Q@

c. 9000000000 0000000000 2000000000 2000000000
29000000000 0000000000 2000000000 2000000000
2000000000 0000000000 2000000000 2000000000
2000000000 0000000000 2000000000 2000000000
2000000000 0000000000 29000000000 29000000000
29009000000 0000000000 29909900000 29009000000
2000000000 0000000000 2000000000 2000000000
2000000000 0000000000 2000000000 2000000000
2000000000 0000000000 2000000000 2000000000
2000000000 0000000000 2000000000 2000000000

2000000000

. O

W 19 2 8 4 8 B 7 8 © 10 91 12 18 14



e. 920000009900 9000000009
29090900000 0000000000
0000000000 0000000000
2000090000 9000000000
2900000909 0000000090
2000000000 0000000000
2000000000 0000000000
2900000000 0000000000
29099929909 0000000000
2000000000 0000000000

2909900000 02000000000
290999090000 090000000000
9000000000 0000000000
290992990000 9000000000
29000090090 029000000000
2000000000 0000000000
2000000000 0000000000
2900000000 0000000000
290999292000 29000000000
29000000000 5000000000

°°°°°°°°°° 2000000000 2000000000
2999900099 3333333332 3333333333
2000000000 3333333333 AT
2002200000 2002200000
3932309000 3032323000
O QO iz @ s
2000000000 2000000000 ggggggg
20002202
§§§§§§§§§§ 2000000000 0000000000 33233333
20000000
2000022020
$3ssssse; 9000000000 s5ssses
2000000000 20000000
2000000000 DOD009000
2000000000
3333333323 Q e
2000000030
Seasensats
3353533535 9000000000 3332322232
gggggggggg 2000000000 °
2000000000 SERSEaSEES
Sesseseess )
2000000000 29000000000
2000000000
2000000000

18 16 17 18 19 20 21

22 23

Qo
Qo
Qe

0000000000
0000000000
Q0000000
00000000
00000000

24 28 2B

0000000000
QLU
0000000000
0000000000

continued &
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J continued
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)
m
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How many oranges are there

2. Count the total of all these oranges. The bags and boxes have the same
number of oranges as above.

00060000000

2] 129929

o0
a0
o0
[els)
[+ 5]

000000

0000000000

O 10 911 12 18 14

19 2 8 4 5 B 7

0




3. Each box shows the total number of objects inside each box.
Write down the total number of objects. s,

How quick are you?

What you need: What to do:

Cut—out 1. — Play in pairs.

— Cut-out the cards from the
back of your book.

— Place them face down on your
desk.

— You choose five cards and your
partner chooses five.

— Turn them over at the same .

fime.
- See who can give the total the
quickest. |
— Check your partner's answer. S
— Do the same using 6, then 7, 8, 9
and 10 cards.
— The person with the most
correct answers is the winner.

18 16 17 18 19 20 21 22 28 24 26 28 Zy 26 20 0




In digits
itis

Eight thousand six hundred In words
and twenty-one it is

1. Complete the following and also write your answers in words:

Y
a.

three hundred and forty

ool -~ Boop

© 9 2 8 4 8§ 6 ¥ 8 O 10 11 92 18 14



3. Complete the following as in the example:

723 =7 hundreds + 2 tens + 3 units

continued &

16 17 18 19 20 21 22 28 24 286 26 2r 26 20 IV



LNumbers 0 - 10 000 continued

. Look at the first example (a).
Now write the other numbers in expanded notation.

. 6564=600+50+4

viii

© 9 2 8 4 8§ 6 ¥ 8 O 10 11 92 18 14




5. Write the following in words.

b. 300

c. 8000

d. 730

e. 92200

f. 4729

What is the size of your number?

. Remember
What you need: What to do: zerois a

Cut-out 3. . . place holder. -
— Play in pairs. r

— Each player rolls the thousands (blue),
1 hundreds (red), tens (green) and units
(yellow) dice.

— Each player then makes this four digit
number with his or her own number

cards.

' — The winner is the player with the greatest

number.

- Do the same activity five tfimes.

18 16 17 18 19 20 21 22 28 24 286 26

2288

Date:



=Patiterns in addition and subtraction &

’ ko110 000

What do addition and subtraction mean?

What does
addition What does
mean'? subtraction
mean? '

1. Complete the pattern:

+100 +100 +100

v
a.
- 200 — 200 - 200
v
o.
+ 500 + 500 + 500
v
C.
+300 + 300 + 300
v
d.
— 400 — 400 — 400

[ sk e |[ 4k’ |

X

©O 9 2 8 4 8§ 6 ¥ 8 @ 90 11 92 198 94



2. Complete the pattern:

a. 200, 400, 600,

. 400, 800, 1 200,

c. 1000, 1 500, 2 000,

d. 9000, 8 000, 7 000,

e. 7700, 7 600, 7 500,

3. Complete the table by filling in the missing numbers.

Complete to the next 10 Complete to the next 100
a 48 48 + 2 =50 48 + =100
o. 164 164 + =170 164 + =200
C. 549 549 + =550 549 + = 600
d. 176 176 + =180 176 + =200
e. 398 398 + =400 398 + =400

continued &

10 20 21 22 28 24 286 265 27 26 20 30



Patterns in addition and subtrac tion
| 1'0 |0 000 continued

Examples: Example 2:

Example 1: 3 2 47

5783+ 129 + 7 38

= 5000+ 700+80+3+ 100+20+9 15 (8+7)

= 5000 + 800 + 100 + 12 70 (40 + 30)

= 5000+ 900 + 10 + 2 9 00 (200 + 700)

= 5912 + 3000 (3 000)
39 85

4. Use both methods above to calculate the following. Write down the steps you use.
Q. 654+ 43 = b. 572+ 317 = c. 1671 +327 =

Confinue on an exfra sheet of paper.

d. 2164 +42= e. 4256 +2487 = f. 2194+ 3642 =

Continue on an extra sheet of paper.

© 19 2 8 4 8 B ¥ & © 90 91 92 18 94



A N, 67 5 B i e -
Examples: Example 2:

Example 1: 8 3 4 2

8342 -2131 - 2 1 3 1
= (8000 -2 000) + (300100 ) + (40-30) + (2-1) 1 (2-1)
= 6000 +200+ 10+ 1 10 (40 - 30)
= 6211 2 00 (300 - 100)
- 6 0 0 0 (8000-2000)

6 2 1 1

5. Choose one of the methods above to calculate the following. Write down the steps

YOU use.

a. 7182-61= b. 7546 — 431 = C. 8764-3451 =
Confinue on an exira sheet of paper.

d. 2456 -83 = e. 4658-999 = f. 8759 -4793=

Confinue on an extra sheet of paper.

What is the size of your number:

What you need: What to do:
— Use the 10s, 100s and — Roll the tens (green) dice.
1 000s dice made in the — Add the number landed on, to the first number on
previous activity. the blue card. Write your addition sum on a piece of
- Piece of paper. [PCfRIEN:

Do the same with the next four numbers.

Repeat the activity with the 100s and 1 000s dice.
Learners check each others’ additon sums.

The winner is the person with the most correct answers.

Repeat the
activity using
subtraction.

Xiii
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What do multiples and multiplication mean? Use the words to help you to describe
them.

What does mUlﬁply
X | mum;cncgion groups of
f\ product
times
multiplied by

Multiples example:
e Some multiples of 2 are 2, 4, 6,8, 10, 12, 14, 16, 18, ...
¢ Some multiples of 4 are 4, 8, 12, 16, 20, 24, 28, 32, ...
1. Complete the number board. We have done a few for you.
a. Colour all the multiples of 2 yellow.

b. Circle all the multiples of 3.

c. Make a triangle around the multiples of 4.

>

1 4 5 6 7 8 9

€D
(6

o~ | >IN | )

A2

16

O 00 N o o A LW DD —

36

© 49 2 8 4 8 B 7 8 © 10 99 12 18



2. Estimate the number of fruit. Then write two multiplicaton sums.

see evee

> 00 00 00 00 00 00
9 OO0 o0 O O O

o0 90 00 00 00 00

oeeeeeeeee
PPPePRPRPREe
PPPePeRPREOe

18 16 17 18 19 20 21 22 28 24 26 28 Zy 26 20 0




Multiples and multiplic afion continued 2

.i: :

20090000000 99000000000 99990000000 2000000000
99000000000 0000000000 9000000000 9000000000
9000000000 90000000000 9000000000 2000000000
9000000000 090000000000 9000000000 9000000000
99000000000 0000000000 0000000000 0000000000
29000000000 90000000000 90000000000 2000000000
2000000000 9000000000 9900000000 2000000000
29090000099 9900000000 9900000000 2000000000
9000000000 0000000000 0000000000 0000000000
2000000000 0000000000 0000000000 0000000000
2000000000 9000000000 99900000000 2000000000
20900000000 9000000000 9000000000 9000000000
290090000000 99000000000 9900000000 2000000000
9000000000 90000000000 9000000000 9000000000
99000000000 0000000000 9000000000 9000000000

000 90000000000 9000000000 0000000000

200 9000000000 29000000000 9000000000

200 9000000000 2000000000 9000000000

200 9000000000 92000000000 92000000000

200 200000 9000000000 0000000000

© 191 2 8 4 8 B ¥ & © 10

11 92 18 14




Examples: Example 2:

Example 1: 5 4 >
56 x5 X 5

= (50+6) x5 30 (6 x 5)

= (50x 5) + (6 x 5) 2 50 (50 x 5)

= 250+ 30 2 80

=280 —

3. Use both methods above to calculate the following. Write down the steps you use.

Q. 24x 3= b. 52x9 =

Continue on an exira sheet of paper.

C. 23x21= d. 46 x37 =

Continue on an exira sheet of paper.

In one minute | can ... @
What you need: What to do: X J

_  Use the 10s and 100s — Rolla 10s dice and then a 100s dice. Multiply the \ N .

dice made in the two numbers. Write down the multiplication sum —,
previous activity. with the answer. I ’
— Piece of paper. — Repeat doing this until your teacher says stop. ‘
’ - Give your sums to your partner to mark. \ e
— The winner is the person with the most correct

multiplication sums. 7
— Do the same activity, but roll the 100s dice twice. ’ Date:
A

Xvii
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Pivision and Factors

4 What does division mean? Use the words to help you to describe it.

divide
What does .
division remainder
mean? . .
'\ divided by
' share

1. Look at the coloured squares. Write a division sum for each.

>

1
2
K
4
5
6
7
8

~0

o @24:6=40r24+4=¢ 0 @

c. @

Xviii

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14
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: “x‘\.‘"--i‘._‘-,;\ NR LY ;{'/" ) .
2. Complete the flow diagrams:

a. b. g
Input Rule Output Input Rule Output Inpu’r Rule Output

35 25

2\
N

56 7 45 /
63 35
3. Write a word problem and division sum for the following:

6

54

)
-7

w
o

fﬁ

C
=

b. oo
)

o 00 00 00 00
O 0 o0 O O

20 00 00 00 00 00

o
&

continued @
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ion and factors continued

VIS

D)

ceeeveveeee

TeeeeeRRee
*PePPeRPRee
9090999991
900093093090
9000909000
900090090090
9000000000

0000000000
00006000000

000000000
00000000

o
oo
0000000000
0000000000
0000000000
00000000060
0000000000
0000000000
0000000000
0000000000
00000000
0000000

o

o0

000000000

000000000

000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000
0000000000

006060000
00000000
00000000

0000000000

000060060000
0000000000

000000000

000600000

000000000
0000000000
0000000000
0000000000
0000000000
0000000000

0000000000

C

10 19 12 18 14

9

1 2 8 4 858 B 7

0



Examples:
Example 1:

42 +2

(40+2)+2

(40 +2) + (2+2)
20 + 1

21

Example 2:

369 +3

(300 + 60+ 9) +3

(0= ) + (0=F) + (=)
100+20+ 3

123

4. Use the method above. Write down the steps you use.

Q. 64+2= b. 63+3= C. 48+ 4 =
Confinue on an exfra sheet of paper.
d. 55+5= e. 448+ 4= f. 318+ 3=

Continue on an extra sheet of paper.

What you need:
— Use the 10 and 100s dice.
— Piece of paper.

18 196 17 18 19 20

In one minute | can ...

What to do:

— Rolla 10s dice and then the 100s dice.

— Divide the bigger number by the smaller number.
Write down the division sum with the answer.

— Repeat doing this until your teacher says stop.

Give your division sum to your partner to mark.

— The winner is the person with the most correct division

sums.

21 22 728 24 28 26 2y 25 20 I




4+2 = . 1+7 = . 7+5 =

3+6= . 3+2= . 8+6=

4

LN
'\..j “'\..j “'\..j

5+4 = . 1+9 = . 9+4 =

1,
)

2+8= . 2+4= . 7+7=

)/_
.

: We have done the first example for you.
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2. What is the value of the

a. 7+2= @+7

C. 8+4=4+

O

Y
e.v+1=1+9

o.2x3=(j?x2

C. 1x8=8x©

e. 7x© =9x7

in each of these?

b.3+9=<i}+3
d. 6+5=5+©

f.3+(§ —2+3

3. What is the value of the @ in each of these?

2
b. 5X4=\JX5

d. 6x3=3x(

f. @ x5=5x4
4. Match column A with column B.

Pattern fun

How fast can you get the
answers?

OOEE
DEOAE
EEEE

10+ 2 /+5
e N
3+9 2+10
1] |
S+7 9+3
6x4 S5x7
1] |
/X5 4x6
HEEEE
4x8 2x3
Colour the cards
Use different

colours to colour
in those cards
that have the
same answer.

6+8

7+3

9x2

18 16 17 18 19 20 21

XXiii
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‘ R7a ‘ Raiio and Rate

Discuss the words “ratio” and “rate”.

Ratio Rate

The chicken cost
R50 per kg.

Written
- asa

ratio

1. Answer the following questions.

a. How many peaches do you see?

b. How many bananas do you see?

c. What is the ratfio of bananas to peaches?

d. What is the ratio of peaches to bananas?

. What is the ratio of the peaches to all the fruit?

XXiv
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a. How many pink flowers do you count?

b. How many yellow flowers do you count?

c. How many purple flowers do you count?

d. How many white flowers do you count?

e. What is the ratio of pink flowers to yellow flowers?

f. What is the ratio of yellow flowers to purple flowers?

g. What is the ratio of pink flowers to purple flowers?2

h. What is the ratio of yellow flowers to white flowers?

i. What is the ratio of white flowers to pink flowers?

continued @
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Cheese

R40 R60
per kg per kg
Milk Ribbon
R10 R5

per litre per metre

double that rate cost.

a. Cheese is R40/kg Double R40 =R40 x 2 =R80

Write out each statement above using the rate symbol. Then work out how much will

. XXVi
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AR \ 1 R Wi il ‘\jij/’
4. Cheese: R40/kg

a. How much will it cost me to buy 1 kg?

b. How much will it cost me to buy 2 kg?e

c. How much will it cost me to buy 3 kg?

d. How much will it cost me to buy 4 kg?

e. How much will it cost me to buy half a kilogram?

5. If Simon is paid R9/hour to work at the market, how many hours must he work if he
wants to make R54?

Continue on an extra sheet of paper.

Prices

— Walk around a shop and find 3 items on which they write
Rand/cents per kilogram.

— Write down these examples and bring them to class.

XXVii
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Y Eractions

Look at the tables and use words such as half, quarter, Three circles of cardboard

and eight. have been cut up in
different ways and the

pieces from each circle put
on a table.

Look at each table and
discuss it in a group.

What will happen on each
table if you put the pieces
back together to form a
circle?

1. Look at the coloured-in circles. Write a division sum for each.

Fraction that is Colour the same

Fraction circle Division sum fraction on this
green .
diagram
a T T ]
1

1+4= 1

4 Is green.

N|[—

Sv
e
@
&
RO
&
X
D

XXViii
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2. Look at this measuring tape and answer the questions.

13 14 15 16 17 18 19 20 21 22 23 24 m
a. What is one half of 24 m¢ We cansay 24 +2=12.
I I I S I
o
9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24m
b. What is one third of 24 m? We can say 24 + =
N I I I I I O O A A
b o
5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 m
c. What is one sixth of 24 m? We cansay 24 + = |
I I N I I S I S A I [ [ |
ot o |
0O 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 m
d. What is one eighth of 24 m? We can say 24 + =
3. Using Cut-out 4 as a guide, fill in whether each of these is <, > or =.
a. ] 1 b. 1 1 C. 1 1
2 > 4 2 8 8 4
d. 1 1 e 1 1 L1 1
3 6 6 8 5 6
g. 1 1 h. 2 1 L4 1
7 6 4 2 8 2
o201 k. 4772 L4773
6 7 6 3 5 8
m. 7 ]2 o8 |, o 5[ |4
8 3 8 7 5

See the fraction game in the next lesson.
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An interval,
what is that?

=m

051

oFl

0el

el

oLl

0ol

0& 08 LT3 02 05
e e e e

It is the
distance
between those
small lines.

i. 3litres
i. 3,5 litres
ii. 2 litres

i. 3litres
i. 2,5 litres
ii. 2 litres

i. 4litres
i. 2,5 litres
ii. 3,5 litres

Il

2 litres i. 3,5 litres
1,5 litres ii. 4 litres
. 2,5 litres iii. 2,5 lifres

How long is each line? Give your answer in millimeters and centimeters.

| RN

cm| | 2 | 2 | 4 | L
051 ol LLH B TA | oLl L1111}

e e

a. Pink line mm

b. Purple line mm

c. Greenline mm

d. Blue line mm
. Red line mm

XXX

O 9 2 8 4 5 G ¥

LT 08
T

B ?

LLF

o

cm

cm

cm

cm

cm

0

8 ¢

0 1

< L1118

ot

{11
il

0é

[1]}
|
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3. There are eight children at my party. Make drawings to solve your questio
a. Two cakes are shared equally between eight children. What part of a cake will

each child get?

b. Each child gets one eighth of the lollipops. How many lollipops will each child

?iﬂ?f"

gete

Fraction fun at home

— With the help of an adult find as many things as you can at home that are divided info equal
pieces. Name the object and say info how many pieces it is divided.

XXXi
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1. You and three of your friends collected all your old toys to sell to buy four sports
shirts. Each shirt costs R50.

a. Look above. This is what you sold on the first day. How much did you sell?

b. How much money do you need to buy all four shirtse

c. How many shirts can you buy with the money you made on the first day?

d. How much more do you need to sell to buy the four shirtse

- xxxii
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2. After three days you sold everything. You kept a record of what you
were selling. Now you need to calculate everything.

First | sold:
da R1500 We still need to sell worth of
Y R17,00 toys to buy all the shirts. Calculate it
+R45, 00 here.

Second || sold:

We still need to sell worth of
day R25,00 - .
R35,00 toys to buy all the shirts. Calculate it
R 8 00 here.
+R22,00
Third I sold: Do we have enough money for 4 shirts?
day Show it here.

— Write down what you really want to buy.
— How much does it coste

— What can you do to get the money?

XXXiii
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Term | — Week 3

About how many paper clips long is the pencil?
How did you find out?

1. A paper clip is about 3 centimetres long.

Use the paper clip as a measure to make these estimates.

estimates by measuring to the nearest centimetre.

Estimate Measure

1000

900

About 3cm

800

Check your

700

a. Length of your thumb.

. Width of your maths book.

600

. Length of a crayon.

. Length of a pencil.

500

. Length of an envelope.

. Length of an eraser.

one kilometre

400

. Use your centimetre ruler. Write the length of each object.

| XXXiV
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300

200

100

0
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3. Look at the picture and complete the table.

£

Distance from:

Metres (m)

Centimetres (cm)

The merry—go-round to the ladder.

The ladder to the swing.

The swing to the seesaw.

The seesaw to the slide.

4. A fence was built around the playground. How long is the fence? Write your

answer in metres and centimetres.

10m

cm

How tall? How long?

) — How tall are you?

‘ / — How tall is your mother or caregiver?
— How tallis your teacher?2

— How tallis your principal@

Which is the longest?

— One third of a metre or one quarter

18 19 20 21 22 28 24 28 26 20 26 29




Area and Perimeter

The area of a shape is the number of square units needed to cover the inside shape.

Square units F

The area is 10 square units.

1. Find the area of each shape and write your answers in square units.

Term | — Week 3

2. Draw the shape described.

a. A red square with an area of 1 square unit.

b. A greenrectangle with an area of 4 square units.
c. A yellow rectangle with 12 square units.

d. A blue rectangle with an area of 10 square units that is longer than it is wide.

XXXVi
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3. Find the area of each shaded rectangle in square units. Be sure to count

the parts you cannot see.

4. A counter top is covered with four rows of square tiles.
There are 9 tiles in a row. What is the area of the counter top in tiles¢ Make a

drawing to show your answer.

5. A counter top is covered with three rows of square tiles.
There are 8 tiles in each of the first two rows and 7 tiles in the third row. What is the
area of the counter top in tiles¢ Make a drawing to show your answer.

— You are using these files
fo tile the floor.

— How many tiles do you
need fo tile the floor on
the righte

16 17 18 19 20 21

XXXVii
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Capacily

Work in groups. Get some large containers. Estimate which of them would hold
about one litre

iUe

1. Fill in the correct answer.

An orange
.. juice carton
a. A cup holds the orange juice carton. holds 1 litre. |
more than, less than, the same as

b. The orange juice carton holds the cup.
more than, less than, the same as
c. The jug holds the orange juice carton. E(‘)ilstSUp

more than, less than, the same as

250 ml.
d. The jug holds the cup.
more than, less than, the same as This jug
holds
e. The orange juice carton holds the jug. 500 ml.
more than, less than, the same as D

2. Estimate whether the objects hold more than, less than or about the same as 1 litre.

| XXXViii
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R

3. How many miillliters are in:

.
* One half alitre, * One quarter of a litre <
e One fifth of a litre

4. Say how much each measuring jug holds?
i.  Which jug holds the moste
i. Which jug holds the least?
ii. How much more does jug B have than jug E? .
iv. How much more does jug A have than jug B2 .
v. Which jug holds less than 500 mi2 \.

Find five things that hold less than | litre and five things that hold more than 1 litre at your home.

XXXiX
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1. Say whether each 3-D object is a pyramid or a prism.
a. ,,‘\ b. l I
. .. d.

nm
_—

- \ \

. " /’\

| /' i ‘.‘

2. Name all the 2-D shapes. How many lines of symmetry does each shape

from 2a to 2e have? Draw the line on the shape and write the number
next to it.

a. ] b. C.
Triangle
: <:> e‘ |
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a. Triangular

e. Hexagonal

\'mn e

b. Rectangular

D

f. Tetrahedron/

Vii.

-
A

SNRSpO }

3. Choose the correct shapes to go with the correct prism/pyramid.

d. Pentagonal
prism

Y

g. Square
pyramid

viii.

Can these shapes tessellate on their own?2

- ‘?
® Ai O

18 16 17 18 19 20 21 22 28 24 26 28 Zy 26 20 0
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Grams and kilograms
are metric units used

to measure how A paper clip weighs
' heavy objects are. about 1g.

A book weighs about 1 kg.

Use a benchmark to estimate the mass of these objects in grams or kilograms.
Check each object on a scale.

a.

2. Use the object on the left to estimate whether the object is heavier or
lighter than kilogram or gram.

c. Aloaf of bread d. Pencils

a. Paper bag b. Shoes

1 kilogram

e. Scissors f.
' N\ ¥ /

NoEitoa

MG MR, M+ M- 1L

xlii

© 9 2 8 4 8§ 6 ¥ 8 O 10 11 92 18 14



3. Look at the scales and answer the questions.

a. Which objects weigh less than 700 g2

b. Which objects weigh between 500 g and 1 kg?

c. Which is the heaviest object?

d. What is the total mass of objects A and D?

e. What is the total mass of objects B and C?

B C

4. Look at the two containers.

Are they the same size?¢

The winning bag .

- Each learner should gather assorted objects from around the .
classroom and place them in his or her bag. Fill each bag until it

is estimated that it weighs about 1 kilogram. ‘.

- Select one class member to weigh each bag. The winner is the
learner whose bag weighs closest to 1 kilogram.

— You can repeat the activity by filling the bags with different
objects. bate:

xliii

16 17 18 19 20 21 22 238 24 26 26 27 268 20 I




1. Sort the types of lunch liked by these grade 5 learners by completing the table.

Type of lunch Tally Frequency

Hamburger

Hotdog

Sandwich

2. Use the information in the table above to draw a pictograph and bar graph.

Pictograph Bar graph
20

18 H

16 -

14

12

Number of children

= xliv
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3. Answer the following questions from your bar graph:

a. How many children like hamburgers in this grade 5 class?
b. How many children like hotdogs in this grade 5 class?
C.
d. Which is the most popular lunch in this grade 5 class?2

e. Which is the least popular lunch in this grade 5 class?2

How many children like sandwiches in this grade 5 classe

4. Write 3 headings: Certain to happen, Certain not to happen, Uncertain. Classify
each of the following under one of those headings:

Snow in our town or place tomorrow.

Hail in our town or place tomorrow.

Sneeze with open eyes.

| will be a day older this time fomorrow.

A woman will be a president of South Africa one day.

Our soccer team will win the league this year.

Somewhere in the world someone is being born right now.
Add one event of your own to each of the lists.

5. Your mother wants to sell lunches for Grade 5 at the tuck shop. What advice will
you give her? Write the answer in your answer book or on a seperate piece of

paper.

Who is lucky? .

\% -

18 16 17 18 19 20 21 22 28 24 26 28 Zy 26 20 0

— Play in pairs. .

— Use a coin again. Start the game by asking: “Who is lucky2”

— The first player will toss the coin ten fimes. Before tossing it he or \.
she must guess on which side the coin will land the most often. If
the player is correct the player will get 1 point.

— The second player does the same.

— In pairs do this ten times. The player with the highest score is the Date:
winner.
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) Numbers to | 000

How many cubes are there in total? Match the place value cards with the base ten

blocks.
O l .. :

1. Count the cubes.

a.

© 19 2 8 4 8 B ¥ & © 90 91 92 18 94



=y )

2. How many cubes are there in total?

0 I . .

=1 =100 = 1000

OO

O
O
O
- O
O
o
®
@ Sigrn:
@ pate
- ]

continued &
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3. Add all the place value cards.

a.

4. Calculate the following:

d.

e.

1000+ 100+ 100+ 100+ 10+10 +1+1=

1000+ 1000+ 100+ 100+ 100+ 100+ 10+10+1+1+1+1+1=

1000+ 100+1000+100+10+100+1+1=

1000+1+100+10+ 1000+ 10+ 100+ 100+ 1 =

10+10+100+ 100+ 1000+ 10+ 1+ 100+ 1000 =

How quick are you?

5
18 196 17 18 19 20 21 22 28 24 26 26 27 26 20 IV

What you need: What to do:
Cut-out 1. - Play in pairs.

— Cut out the cards from the back of your books.
— Place them face down on your desk.

— You choose five cards and your partner chooses five.

— See who can give the total the quickest.

— Add 1000 to your answer.

— Check your partner’s answer.

— Do the same with 6/7/8/9/10 cards. Remember to add a 1 000.
— The person with the most correct answers is the winner.



What number will these cards make?

N ‘ 5628

In words \
8 it is

r' Five thousand six hundred
and twenty—eight.

Use Cut—-out 2 to show five different numbers.

1. Complete the following:

a. 8000 +400+30+2=

. 3000+800+50+ 1=

c. 1000+200+80+7=

d. 4000 + 900 + 3 =

e. 7000+7=
2. Write the number in the correct column:

a. | 3487 3 4 8 7
b. | 4204
c. |6003
d. |8710
e. |6080

3. You need some coloured pencils to complete this question. Complete the following
using the first question to guide you.
a. 8 183 = 8 thousands + 1 hundred + 8 tens +

b. 6325 =

c. 55855 =

d. 2806 =

e. 6005 =
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4. Complete the table below:

Expanded notation Words
a. (6578
b. |3254
c. | 5504
d. |92540
e. [8003

5. What is the value of the underlined digit?

a. 6214
b. 5891
c. 5004
d. 1240
e. 8040
6. What will you do to change the number?
a. 4824 - 400 4 424
b. 3154 154
C. 2054 2 004
d. 3879 3070
e. 5571 5000

18 196 17 18 19 20 21 22 28 24 26 26 27 26 20 IV

What to do:

— Bring a newspaper to class.
— Find five 4-digit numbers. Write them down.

— Share with the class what each number means.

Find the number.

What you need:
— A newspaper




numbers.

N R

tens n hundreds ) thousands l

1. Complete the table below:

Look at these Egyptian numbers. Make any 5-digit number using the Egyptian

Egyptian number Number Expanded notation

&@ elele|nin|nli 1 431 1 000 + 400 + 30 + 1

]
t[a]o]a]o]+]l

S5 ([pe—an|||De—n

HIII@@@II

EIIIIIII@@,n

2. Arrange the numbers from the smallest to the biggest.

a. 6923, 6 239, 6 329, 6 223, 6 326 |

b. 3210,3201,3012,3021,3011 |

7776,7767,7677,7 676,7 656 |

Qo

8 008, 8 080, 8 808, 8 800, 8 000 |

o

S 888, 8 &), 8§ 388, 8 589, 8 389 |

®

Fill in < or >.

6923 6293
st l3i03
5333 |00 >
2002 19000

4929 L J4992

greater than

®© o0 00T a @
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a27sal | p7sm | c o547
a7siol | ey L |

5. Complete the following: 3 6 2 9

a. Use each digit once, make the smallest 4-digit number: | |

4. What is the value of the 7 in all the numbers? '

b. Use each digit once, make the largest 4-digit number: | |

c. You can use a digit twice, make the smallest 4-digit number: | |

d. You can use a digit twice, make the largest 4-digit number: | |

6. Complete the following:

You tossed some stones on a game board. This
was your result. If you add the numbers, what is
the total?

Who can get the largest number?

What you need:
— The game board on the right.
— Small stones.

What to do:

— Toss your stone on the board.

Write down the number it landed on.
Do this ten times.

Add the numbers.

The winner in a group is the person with
the highest score.

9
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__ Number sentences

Replace with a number

4+6= 5+5= 8+2= 3+7=
23+7= 24+ 6= 22+8= 25+5=
430 + 70 = 440 + 60 = 420 x 880 = 450 + 50 =
430 + 270 = 440 + 260 = 420 + 280 = 450 + 250 =

1. Calculate the following.

Example: Commutative property of addition.

15 +5= | 52 or 37+15= 52

59 +368= | 427 or 368 + 59 = 427

87 +62= | 149 or 62+ 87 = 149

Q.22+35=35+

C.99+89 =89 +

d. +75= +76

€.375+283 =283 +

f. 389 +742 =

10
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Example: Associative property of addition.

(5+4)+6=|15 is the same as 5 + (4 + 6) =

(35+28)+17=| 80 is the same as 35+ (28 + 17) =

15

80

99 + (7+45)=| 151 | isthe same as (99 +7) + 45 =] 151

2. Calculate the following.

a.(5+7)+8= +(7+8)
c.9+(1+4)=( + ) +4
e. (12+13)+11 =12+ +11)

b.(8+7)+6=8+(
d.(3+8)+7=

f.20+(3 +8) = (

+ 6)

+(8+7)

Solve the problems.

A man buys cell phones for all his stores. He buys 6 789 black phones, 1 567 brown cell phones and

4 532 red cell phones. How many cell phones did he buy altogether?

a. What is the question?

b. What are the numbers?

c. What basic operation/s (+, -, x, +) will you use?

d. Write down the number sentence?

e. Do your calculation.
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1. Complete the following.

a

C

.10=5+ 10-5=

.10=4+ 10-4=

.10=2+ 10-2=

. Complete the following.

. 100 =50 + 100 - 50 =

. 100 = 40 + 100 - 40 =

. 100 =20 + 100 -20 =

. Complete the following.

. 1000 = 500 + 1 000 - 500 =
. 1000 = 400 + 1 000 - 400 =
. 1000 =200 + 1 000 - 200 =
. Complete the following.

. 100 =57 + 100 - 57 =

. 100 =43 + 100 - 43 =
.100 =25+ 100 -25=

© 9 2 8 4 85 G 7

Write number sentences using +, - and =. Each number sentence should
include a 1 or a 0. What do you notice when you calculate it?

JUUU
JUUU

b.10=7+

d.10=6+

f. 10= 9+

. 100 =70 +

d. 100 = 60 +

—h

100 =90 +

. 1000 = 700 +

d. 1 000 = 600 +

—h

1 000 = 900 +

b.100=72+

d. 100 = 69 +

f. 100 =91+

8 9 10

10 - =3
10 - =4
10 - =
100 — = 30
100 — = 40
100 — =10
1 000 - = 300
1 000 - = 400
1 000 - = 100
100 - = 28
100 - = 3]
100 - =9

11 12




5. What pattern did you notice?

6. Say if the following is true or false.

a.6+5=5+46 L.2+6=6-9 C.12-4=4-12

d.15-9=9+15 e.8+7=7-8 f.20-10=10-20

7. Solve the problem.

The price for a container of wheat is R8 231. Since some of the wheat is spoiled, the
price is decreased by R3 789. What price does a shop owner pay for the container of
wheat? (You will need some exira paper to do this activity.)

a. What is the question?

b. What are the numbers2

c. What basic operation (+, -, x, +) will you use?

d. Write down the number sentence?

e. Do your calculation.

Here is one combinatfion that will give you 20. How many more combinations can you come up with?2

13+17=
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)Addi‘rion up to u-digit numbers

\4

What is the difference between the numbers in each of these rows?
NN N N N i

100 200 300 400 500 600 700 800 900 1 000

101 201 301 401 501 601 701 801 901 1 001

1. What number comes nexi?

a. 30, 40, 50,

b. 600, 700, 800,

C. 2545, 3 545, 4 545,

d. 2605, 2705, 2805,

€. 5484, 6 484, 7 484,

f. 1610, 1710, 1810,

2. Complete the table by adding to the given number in the first column.

14
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3. Fill in the missing number:

a. 8+ =10
b.15+ =20

c. 80+ =100

d. 72+ =100

e. 150 + =200

f. 332+ =350

g. 325+ = 400

h. 1750+ =2 000
i. 3220+ = 3500
j. 5440 + = 6000

4. Complete the table by filling in the missing numbers.

Complete up to the next | Complete up to the next | Complete up to the next
10. 100. 1000.

a. 1457 | 4573 |- 460 457 + = 500
o. 1125 1105, =130 125 + = 200 125 + = 1000
C. |97 575+ = 580 575 + = 400 575 + = 1000 O
d. |853 B _ _ .

853 + - 860 853 + = 900 853 + = 1000

®

18 16 17 18 19 20 21

continued @
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Examples: Example 2:

Example 1: 9 OO 7

5 637+ 2 358 r 2 3 ? 85 (7 +8)
= 5000 +2 000 + 600 + 300 + 30 + 50 + 7 + 8 8 0 (30 + 50)
= 7000+ 900+80+15 9 0 0 (600 + 300)
= 7000+900+80+10+5 +7 0 0 0O (5000 +2000)
= 7000+900+90+5 7 9 9 5

= 7995
5. Use both methods above to calculate the following.

a. 3268+1211= b. 5455 + 3 540 =

Continue on an exira sheet of paper.

c. 4765+3219 = d. 7214+ 1397 =

Continue on an exira sheet of paper.

€. 6984 + 659 = f. 8647 +768 =

Confinue on an extra sheet of paper.

i © 10 91 92 18




6. Of all the methods of addition which you’ve learnt so
far, which one do you like the most and why? Write an example of
your favourite method here.

Continue on an exira sheet of paper.

What is the size of your number?

What you need: What to do:

— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice made - Roll the green 10s dice.
before. — Add the number landed on, to the first number on
— Piece of paper. the blue card. Write your addition sum on a piece of
paper.

— Do the same with the 2nd to the 5th number.

— Repeat the activity with the 100 s and 1 000s dice.

— Learners check each others' addition sums.

— The winner is the person with the most correct answers.
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How fast can you answer these?
e Add 2000+ 1000 + 300 + 50 + 8 +2.

e Whatis the sum of 5 000 and 2 0002 How did the
blue words
e How much is 6 000 and 300 altogether? help you?

* What three numbers have a total of 500¢ _r

e Add 37 and 12.
e Whatis the sum of 200 and 362

* How muchis 95 and 25 altogether? What word
. will help you
e Which three numbers have a total of 1002 to choose the
operation?

1. Solve the following problems. The pictures may guide you. Also use the blue
word.
a. Shop A sells 570 cans of cold drink. Shop B sells 320 cans of cold drink. How
many cans of cold drink do both shops sell altogether.

Shop A

500 + 300 + 70 +

Try to form
a picture in
= your mind.
These are the
number of
cans.

18
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b. My uncle, a truck driver, travelled 1 475 km in early January.
He then travelled 276 km more. How far did he travel in January?2

i. What picture do you see when you think about this problem? Draw it.

i. What operation should you use?

ii. Solve the problem. Write it down in your writing book.

Continue on an exfra sheet of paper.

c. Jabu collects 2 389 bottle caps. Sindi collects 3 983 bottle caps. How
many bottle caps did they collect altogethere

Confinue on an exfra sheet of paper.

continued @
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Continue on an extra sheet of paper.

20
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Continue on an extra sheet of paper.

Story sums

Write three of your own maths stories, rhymes or poems. Remember they should include numbers.

Compare your work with the work of a friend. Are they similare

18 196 17 18 19 20 21 22 28 24 286 26 2y 26 29




What is the difference between the numbers?
Y Y Y Y N Y Y Y

10 20 30 40 50 60 70 80 90 100

1003 | 2003 [ 3003 | 4003 | 5003 | 6003 | 7003 [ 8003 | 9003

1. What number comes nexi?

a. 80, 70, 60,

b. 200, 800, 700,

c. 787,687, 587,

d. 2365, 2355, 2 345,

e. 9451,8 451, 7 451,

f. 7545, 6 545, 5 545,

2. Complete the table by subtracting from the given number:

Number Subtract 1 Subtract 10 Subtract 100 Subtract 1 000

5132

1874

8412

4 657

3528
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3. Fill in the missing number:

a. 3-—J=0

b. 15-—J=10

c. 37 -—— =30

d. 51-—]=50

e. 116-—— =100

f. 150 -—— =120

g. 568 - ——=500

h. 984-— |=800

i 1952-—]= 1500
i. 9407-——=5000

4. Complete the table by filling in the missing numbers.

Complete up to the Complete up to the Complete up to the
previous 10 previous 100. previous 1 000.
a. |48 48 - Q =40
b. [325 |325- Ig =320
c. | 553 |553- Ig =550
d. | 1689 1689—|;=1680 1689—|;=1600 ]689—|;=1000
e. | 6584 6584—Q= 6584—Q= 6584—Q=

18 16 17 18 19 20 21

22 28 24 28 25 2y 23 20 v

continued @



continued

Examples: Example 2:

Example 1: 4 3 2 8

43283145 - 3.1 4 g .
= (4000 - 3 000) + (300 - 100) + (20 — 40) + (8 - 5) .o (12c§-_40;
= (40003 000) + (200100 + (120~ 40) + (8 -5} L 00 (00m100
~ 00010080 + 1.0 00 (4000-3000)
= 1183 2

5. Use both methods to solve the problem.
a. 3812-2708 b. 5684-2419

Continue on an exira sheet of paper.

c. 8148-2077 d. 2632-1284

Continue on an exira sheet of paper.

e. 9657 -3489 f. 7210-4144

Continue on an exira sheet of paper.

g. What method do you prefere Why?

Continue on an exira sheet of paper.

24
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Examples:

Example 1:

7 424 -1 888

(7000 — 1 000) + (400 —800) + (20 —80) + (4 - 8)
(7000 -1 000) + (400 -800) + (10-80) + (14 -8)
(7000 — 1 000) + (300 —800) + (110-80) + (14 -8)
= (6000-1000) + (1 300-800) + (110-80) + (14 -8)
5000+ 500 + 30 + 6

5 536

6. Use both methods to solve the problem.
a. 3767 -2459

(14-8) 9
(110-80)

(1 300 - 800)
(6000 - 1 000)

oN|O O O 0N

b. 8715-4108

Confinue on an extra sheet of paper.

C. 6449 -5655

d. 9 5646295

Continue on an extra sheet of paper.

e. /7359-2399

f. 5222 -4 653

Confinue on an extra sheet of paper.

g. What method do you prefere Why?

Continue on an exira sheet of paper.

What you need: What to do:

— Use the 10s, 100s and — Individual game against a group or the class.
1 000s dice you made - Roll the 10s dice.
before. - Subtract the number landed on from the first number

— Piece of paper. piece of paper.

What is the size of your number?

on the blue card. Write your subfraction sum on a

Do the same with the 2nd to the 5th number.

Repeat the activity with the 100s and 1 000s dice.
Learners check each others’ subtraction sums.

The winner is the person with the most correct answers.
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How fast can you answer these?

Subtract 40 000 from 80 000.

What is the difference between 7 800 and 5 400¢
Minus 90 000 and 55.

Decrease 100 000 by 10 000.

Subtract 450 from 19 000.

Reduce 50 000 by 1 000.

Take 15 000 from 45 000.

Take away 25 000 from 100 000.

How did the 4
blue words ]
help you?

blue word.

a. Veronica has 780 postage stamps in her collection.

1. Solve the following problems. The pictures may guide you. Also look at the

Lindiwe has 410 fewer stamps. How many stamps does Lindiwe have?

ARBIEAAEAE AABIEAAEIE AARAEAREIE 4AABIELARI
EFEVFFENERT ﬁ:mﬁiﬁlmﬁs SFEVFFENERT ﬁ:mﬁiﬁim .
cHE2CcEE2. cREzZCCBEzZC CEBRCCEEEC
ASBRIEARBAE &ilﬂlﬁhlsl AABIBARBAE
DEeEslExEs [UEafslExf®Es DExEalpais
CHEZCCEEZ:. CEEZCCEEZ: CEEZCOEEZRC
AREANAAEIE JaBIBAAEAE LABINAABEIE -
DEafslaais DExfslpais DExfslsais EalEais
CHEZCeHEZ. CREZCCEEZC oEE2CoEERC AEECCREEC
AEBRIRAAEAE ASEIEAARIAE ASEIBAARIAE ASBIRAAEIE
L1 ElL ELY E) L1 EL ETY E) SEELEFELED @1 ELEYT EL
ﬁlmﬁiﬁla?s CExEslEa)e ﬁlmﬁiﬁla?i ﬁ:mﬁiﬁlaﬁi
?.‘6.5: ﬁ'mdw. ‘_ﬂb&
] | &ilﬂlﬁhlsl
& P EV P BT
cHEEZCCEERC
T EL YL EL
1 ToroF el Lo e

What word
will help me
to choose the

operation?

26
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b. James is selling stamps. He sold 4 387 on Monday. By the end of
Tuesday he had sold 8 000 stamps. How many stamps did he sell on Tuesday?

i. What picture do you see when you think about this problem? Draw it.

Confinue on an extra sheet of paper.

ii. What operation should you use?

Continue on an extra sheet of paper.

iii. Solve the problem. Write it down in your workbook.

Continue on an extra sheet of paper.

continued &
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VSub‘rrac’rion Problems continued

c. My aunt makes jewellery. She buys 9 525 beads. She uses 4 250 to make some
jewellery. How many beads does she have lefte

Continue on an extra sheet of paper.

2. Look at the pictures below of soccer balls and tennis balls and write an interesting

subtraction word sum.

%&%ﬁ%& %&%ﬁ%& %&%ﬁ%& %&%ﬁ%&
"% % "% % "% % "% %
o) o) o) o)
%%% %%% %%% %%%
;;ggg. BB @gf;@ SR —
SRS e e
BRENRNS ewwoeewe ewwoeewe
= (o= . CEECTECCTEE) CEECTECETE
O] cmuwutwuu’ CEETEETTE
Ceceerores )’ ceceeseTee )
Y9999V ceeeveCeEE ceevceeeee
cecececoee’ ceececceeoee

Continue on an extra sheet of paper.
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3. Write an appropriate and interesting word sum for: 45 879 and 38 238.
Solve it.

Confinue on an extra sheet of paper.

At the party — Make up your own story

1ArIAstee EEE

’ k-1 Ak AR 2 %%%
&
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)Addi‘rion and Subtraction problems up

' torS-digit numbers

How fast can you answer these?

Add 6 000 and 800.
Subtract 600 from 4 000.

9 000 plus 330is ...

The sum of 2 500 and 5 500 is ...
Take 3 000 from 7 000.
Decrease 5 500 by 2 300.
Increase 1500 by 2 800.

1 250 and 4 250 are ...

1. Complete the table below.

Add 300 Subtract 600 Add 4 000 Subtract 3 000

3 500

6 200

5820

4 650

5999

2. Answer the following questions:

a. What is the opposite of + 2

b. What is the opposite of = 2

30
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3. Calculate the following.
Q. 7544 +1378 = b. 4245+ 1996 =

Continue on an extra sheet of paper.

c. 8678-3482= d. 3124-1657=

Confinue on an extra sheet of paper.

4. Check your answers for each of the above calculations, using the opposite
operation.

Continue on an extra sheet of paper.
continued @
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Addition and Subtraction problems up
TO S- dlng numbers continued

5. Solve the following problems:

a. Suzy and her brothers were counting animals and birds at the zoo. Suzy
counted 234 animals and her brother Thabo counted 1 004 birds. Their
younger brother Andile counted 538 animails.

i. How many animals and birds were counted in all?

ii. The guide told them that they could
expect to see 2 000 animals and birds.
How many animals and birds did they
not see?

P

b. A book store had 1 250 books. They
bought another 1 200 books. Then they
had a sale and sold 1625 books.

i. How many books were on the shelves
when the sale started?e

Continue on an extra sheet of paper.
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i. How many books were left on the shelves after the sale?

Continue on an extra sheet of paper.

iii. If the book store sells another 500 books, how many books will be lefte

Confinue on an extra sheet of paper.

Coloured numbers

18 16 17 18 19 20 21

What to do:

Play in pairs.

The first player will say: “Add red
numbers”. Then the second player can
take any two red numbers and add them.
If the player is correct, he or she will get
one point.

The second player will say: “Subtract
yellow numbers”. Then the first player
makes a subtraction sum with any ftwo
yellow numbers.

Carry on playing. The first person with a
score of 10 is the winner.

22 28 24 28 25 22U 28 29
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—Patterns and tables

X

4

S

6

10

4

5

6

10

8

12| 14

16

18

20

12

15

18 | 21

24

27

30

12|16

20

24128

32

36

40

25

30 |35

40

45

50

18 | 24

30

36 | 42

60

28

35

42 | 49

56

63

/0

40

48 | 56

64

/2

80

NN O |IN|O~JO DWW —

O[O | N[OOI —]—
(@)

27 | 36

45

54

90

(-

O
N
(@)

30 | 40

50

60 | 70

80

90

100

1. Use the table below to find the answers.

12

14

16

18

20

12

144

168

192

216

240

14

168

196

224

252

280

16

192

224

256

288

320

18

216

252

288

324

360

O 9 2 8 4 5 G 7

a.16x 18 =

p.18x 18 =

c.16x12=

d.20x 20 =

e.ld4x16=

9

10

11 92 18 94




A

2. Complete the tables below as in the example.

Example:
Using tables is a useful way to record patterns.
Input

Rule| x6 | 6 | 12 | 18 | 24 | 30 | 36 | 42 | 48 | 54 | 60

Output

x 10

Input and output values

a. My ruleis x 8. My input values are 1 fo 10. What will the 15th output value be?

b. My ruleis x 10. My input values are 11 to 20. What will the 20th output value be?
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Explain what happened
to the paint at the paint
shop?

1. Complete the flow diagrams.

Example 1: Example 2:
Input Output Input Output
1 7 1 5
3 N 2 3N, Rie T3
5 35 5 P x4 | +1 b
7 49 - 25
9 63

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14



147

2. Create your own flow diagrams.

a.
Input

-

JUUUUS

Input Output

Inputs, rules and outputs

a. My ruleis x 5 + 2. My input values are 2, 3, 4, 5 and 6. What are my output values?

18 16 17 18 19 20 21

b. My ruleis x4 x5. My input values are 6,7, 8,9, 10 and 11. What are my output values?2

22 28 24 28 25 2y 23 20 v




ENumber Patterns

Quick recall: How fast can you answer the following?

1+4= 1x5= 1x4= 4+5= 4x8 = 3+4=
4x7= 4+6= 1+5= 6+5= 4+9= 4x9=
3x5= 4x5= 3x4= 5x5= 8+5= 4x4=
4+8= 6x5= 9x5= 2+4-= 4x6= 4+7=
7+5= 4+4= 3+5= 2x5= 2x4= 2+5=

1. Extend the following patterns.

a. 25, 30, 35,

.25, 50, 75,

c. 110, 120, 130,

d. 99, 94, 89,

s eyt 187

f. 31,56, 81,

9.747,757,767,

WESSINE628 3878

i. 2100, 2200, 2 300,

J. 10000, 9 993, 9 986,

2. Complete the flow diagram.
Input Rule Output Input Rule Output Input Rule  Output

o e e
SiLd
o @
G 7 @

195

C

o
C .
3
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3. Identify the rule in each case.

a. 21, 26, 31

.26, 51,76

c. 125,150, 175
d. 1011, 1021, 1 031

e.2061,2066,2071

4. Patterns are shown here. Explain each one in words.

2

3

4

5

6

/

9

2

3

4

5

6

/

@

6

8

10

12

14

6

O)

12

15

18

21\

8
8
/8,
24

8

12

20

24

28

32

10

15

20

30

35

40

12

18

X

30

42

48

14

21

28

35

42

56

OO\IO\(NAOOI\)@—'

/8,

24

32

40

48

56

V|0 (N~ —

18

27

36

45

54

63

/2

O

/\

Look at the patterns on the board. Describe each one in your own words.

1112

21|22

31|32

41 | 42

5152

61|62

71|72

18 19

Patterns everywhere

51

61

71

65
71 73|74175(76|77
83 85 87

81
1]

92

91(92]93|94]95 97

2002

22 28 24

2608270288 B30



ELMore number patferns

What is a pattern? Look at the examples to guide you.

112341567 ]8[92]10

nli2[13f14]15]16]17[18]19[20] 12, 24, 36, 28, ...

212223 |24]25|26|27|28|29|30

31[32|33|34|35[36|37|38|39]40
41| 42| 43|44 | 45| 46| 47| 48|49 |50
51[52|53|54|55|56|57]|58|59|60 Q

61| 62(63|64|65|66|67|68|69|70
71(72|73|74|75|76(77|78|79|80

81(82)|83|84|85|86|87|88|89]|90
91(92(93|94]95]96|97]98|99[100

1. Which of these are patterns? Answer with reference to what you said a pattern is.

a. 12,24, 36, 48, ... . 9.3. 11,

Cama -

2. Complete the pattern on the circle. We have started it for you.

205 a. Describe the pattern.

40
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3. Make two of your own patterns. They should be similar to the
pattern in question 2.

a. b.

c. Describe the patterns above.

4. What is the next number?

a. 2,3,5,8, b. 100, 81, 64,

c. 1,4,9,16, 25, d. 3,9, 81,

Pattern fun ...

What will the next five rows in this pattern be?2 1

1+2+1
1+2+3+2+1
1+2+3+4+3+2+1
1+2+3+4+5+4+3+2+1
1+2+3+4+5+6+5+4+3+2+1
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Multiplic ation: |-digit by 2-digits

Give the total of the numbers in each shape. Use multiplication.

o
O
102
e(\

Q

1. How fast can you complete this grid?

- 42

© 19 2 8 4 8 B ¥ & © 90 91 92 18 94




2. Describe the pattern shaded in yellow on the previous page.

Continue on an extra sheet of paper.

3. Complete the flow diagrams.

Input  Rule Output Input  Rule Output Input  Rule Output
p. \ C.

6 \1-2)

16 \33
o

180

continued «
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\4

» Multiplic ation: |-digit by 2-digits continued

d. Draw similar flow diagrams multiplying by 8 and one multiplying by 6.

Continue on an exira sheet of paper.

4. The example below will help you to complete the other tables.

Multiples of 3

3x1 3x2 3x3 3x4 3x5 3xé
vy € 9 vy € 9
3 6 9 12 15 18

The multiples of 3 are 3, 6, 9, 12, 15, 18,

© 9 2 8 4 85 G 7

8 9 10
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Multiples of 4

4x1 4x2

4x3

vV 9 9 9 9 9

The multiples of 4 are 4, 8, 12,

Multiples of 5

vV 9 9 9 9 9

The multiples of 5 are

Competition time

What you need:
— Coloured pencils.
What to do:

— Mark in the multiples as fast as you can:

— Multiples of 5in red.

— Multiples of 6 in blue.

— Multiples of 10 in green.
— Mulfiples of 3 in purple.
— Mulfiples of 12in

18 16 17 18 19 20 21

Check your answers:

You should have:
12 red circles
6 blue circles
6 green circles
13 purple circles

4 yellow circles

22 28 24 28 25 22U 28 29



) Multiplic ation: 2-digits by |-digit, 2-digits

' byr2-digits

Give the total of the numbers in each shape. Use multiplication.

rectangle

a.

1. Find the multiples.

Multiples of 10

10x1

10x 2

10x3

10x 4

10x5

10x 6

vV 9 9 9 9 9

b.

The multiples of 10 are

Multiples of 100

A4

4

C.

The multiples of 100 are

Multiples of 1 000

| BERGTED
v 9
| DU TEE |

vV 9 9 9 9 9

. 46
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The multiples of 1000 are

8 9 10
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2. Use both methods to calculate the multiplication sums. Write the steps.

Examples: Example 2:
Example 1:

43x7 X
(40+3) x7
(40x7) +(3x7)
280 + 21

301

a.16x3 = b. 24x4 =

4

(3x7)

+ (40 x 7)

— O =N W

O |00 N

2
3

Continue on an exira sheet of paper.

c.30x6 = d. 54x7 =

Confinue on an extra sheet of paper.

e.79x9 =

Continue on an exira sheet of paper.
continued @
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3. Use both methods to calculate the multiplication sums. Write the steps down.

Examples:
Example 1: Example 2:
23x 14 = 2 3
(20 + 3) x (10 + 4) X 1 4
=(20x 10) + (3x 10) + (20 x 4) + (3 x 4) 12 (3 x 4)
= 200+30+80+ 12 80 (20 x 4)
= 200+ 100 +10+ 10 + 2 30 (3x10)
= 300 +20 + 2 + 200 (20 x 10)
= 322 322

a.l10x 13 = b. 15x15= c. 18x21=

Confinue on an extra sheet of paper.

d. 23x24 = e. 36 x28 = f. 45x29 =

Continue on an exira sheet of paper.

9. 47 x37 = h. 54 x 69 =

Continue on an extra sheet of paper.

4 86 6 v 8 9 10 91 12 18
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»

®
0

3 20 3

231/

Confinue on an exira sheet of paper.

How fast are you?

22 28 24 28 26

see?

P

What
picture do |

My teacher bought 15 boxes of coloured pencils for R21 each and 15 colouring

books for R18 each. How much did she pay in total?

How many dots do you count?

4. Solve the following:

ﬂ
&
S
N
S
==
0
==
=
ﬂ
©
1
%



500

500
500 500

500 500 509
500  gog

500

1. Complete the table below.

Number | x 10 x 20 x 30 x 40 X 50 X 60 x 70 X 80 x 90
10

15

20

25

50

2. These are multiples of (extend the pattern).

a. 30: 300, 330, 360, 390,

b. 25: 125, 150, 175, 200,

c. 50: 350, 400, 450, 500,

d. 100: 1000, 1100, 1200, 1" 300,

e. 150: 1500, 1650, 1800, 1 9250,

50
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3. Use both methods to solve the sums.

Examples:

Example 1: Example 2:
19 x 23

(10+9) x (20 + 3) X
(10x20) + (9x20) + (10x 3) + (9 x3)
200 + 180 + 30 + 27

= 200+ 100+80+30+20+7

= 300+ 130+7

= 300+ 100+ 30+ 7

400+30+7

437

(9 x3)
(10x3)
(92 x 20)
(10x 20)

1l
WO 0 WNIN —
NIO O O NIlw o

4
AN —

a.12x19 = b.14x21 =

Continue on an exira sheet of paper.

Cc.17x24 = d. 19x27 =

Confinue on an extra sheet of paper.

e.23x38 =

Contfinue on an extra sheet of paper.
continued @
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V Mulliplic ation: 2-digits by 2-digits and

\ A& 5" digits by 2-digils.continucd

4. Use the method below to solve the multiplication sums.

Examples:

Example 1:

45 x 62

(40 + 5) x (60 + 2)

(40 x 60) + (5x 60) + (40x 2) + (5x 2)
2 400 + 300 + 80 + 10

2000 + 400 + 300 + 80 + 10

2000 + 700 + 90

2790
a.28x43 = b.39 x48 =
Confinue on an extra sheet of paper.
C.46 x 57 = d. 67x72=
Continue on an extra sheet of paper.
e.84x93=

Continue on an extra sheet of paper.

52
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5. Solve the problem.

a.They say an apple a day keeps the doctor away. | have had one apple per day
for the last 18 months. Approximately how many apples did | eat?

Continue on an exira sheet of paper.

How fast are you?

What to do:

— The aimis to see
how fast you can fill
in the answers in the
white rectangles.

—  Multiply each
number on the
circle by the same
colour rectangles to
get your answer.

16 17 18 19 20 21 22 28 24 286 26 2r 26 20 IV




' Groupmg and sharing problems

Thinking in groups:
We have 18 apples.
Can you move 1 apple to make 3 equal groups?

1. How many objects do you need to move to make 3 equal groups? Complete the
following using the example given.

Q. 7+8+9=24 b. 12+ 13+ 14 =

i. Addition sum: i. Addition sum:
8+8+8=24

ii. Mulfiplication sum:
8x3=24 @ Multiplication sum:

C. 97+98+99= d. 2000 + 3000 + 4 000 =

i. Addition sum:

ii. Multiplication sum: _

i. Addition sum:

i. Multiplication sum:

54
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2. What can you do to each group of numbers to make them equal? Write
down three sums to show what you did.

a.

o.

i. 3,45
3+1=4
4+0=4
5-1=4

4,6,8
ii. 80,90, 100

3. Break this block into 3 equal parts.

ii. 20, 30, 40 iii. 600, 700, 800
a. a.

p. p.

S, S,

v. 40, 50, 60 vi. 100, 200, 300
a. a.

o. o.

C. C.

viii. 700, 800, 200 ix. 4000, 5000, 6 000
a. a.

o. p.

C. C.

Now write an addition sum:

Now write a multiplication sum:

18 16 17 18 19 20 21

continued &
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29090099009
29000000000

children?

00000
00000
00000
Q0000
Q0000

29900
29009
29990
290000
20000
2000000000

2000000099
2000000000

‘Grouping and Shdring prob\ems continued

What does it mean to share? How fast can you share the oranges between the

0 100 200 300 400

i. You can write it as: X

|/\|/\|/\|/\|/\|/\
| | |

i. How many groups of a hundred do you count?

ii. If I share 800 by 8, what will | get?

l/\
| |

800

500 600 700

° /\I/—\I/\I/—\I/\I/—\I/\/\I/\I/—\I/\/\I

i. You can write it as: X

i. How many groups of six thousand do you count?

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000
i. How many groups of a thousand do you count?
ii. You can write it as: X
jii. If Ishare 12 000 by 1 000, what will | get?
C. T T
| | | | | | | | | | | | |
| | | | | | | | | | | | |
0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

ii. IfIshare 8000 by 8, what will | get?e

© 9 2 8 4 85 G 7
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2. Use the number lines to show the following:
a. Share 12 000 between é.

0 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

b. Share 12 000 between 4.

0O 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

c. Share 12 000 between 3.

0O 1000 2000 3000 4000 5000 6000 7000 8000 9000 10000 11000 12000

3. Which of these fruits could | share equally?

Fruit Number Shared between Each get Remainder
% 2 000 apples 10 200 0
; 2 800 oranges 100
b 3 700 bananas 100
. 5 250 naartjies 10
9 487 pears 100

continued @
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Look at the picture.
You have offered to
help the teacher to
re-arrange the books
on the shelves. She
only wants 25 books
per shelf. She has 200
books. Will she have
enough shelf space?

Explain how you got
your answer.

1. Complete the following:

Example:

320 + 8 is the inverse of 8 x 40 = 320
490 + 7 is the inverse of 7 x 70 = 490
360 + 6 is the inverse of 6 x 60 = 360

a. 320 = 8is the same as

Division is the opposite or reverse
operation to multiplication. We
say that division is the inverse of
multiplication.

The inverse of 320 + 8 = 40 is
8 x 40 = 320, and 8 x 40 = 320 is the
inverse of 320 + 8 = 40.

\

\
[\\\ |

b. 400 + 8 is the same as

C. 240 + 4 is the same as

2. Complete the following:

Example:

325+ 8is the inverse of 8 x 40 + 5 = 325
496 +7isthe same as 7 x 70 + 6 = 496
368 + 6 is the inverse of 6 x 60 + 8 = 368

a. 352 + 8 is the same as

b. 448 + 8 is the same as

C. 264 + 4 is the same as

3. Complete the following:
Example:

375+8

8 x 40 = 320. There is 55 left.
8 x 6 =48. Thereis 7 left.
375+ 8 = 46 remainder 8

© 9 2 8 4 85 G 7
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Q.459 - 8isthe same as b.765+8isthe same as c. 923 + 4 is the same as

4. Calculate the following and then test your answer.

Example:
344+ 5 Test your answer:
= (300+ 50 + 14) + 5 72x5
= (300 + 5) + (50 + 5) + (14 + 5) = s+ 0
= 40 + 10 + 2 remainder 4 = 360 plus the remainder 4
=72 remainder 4 =364
Q.463+5= b.417 +7 = C.253+6=
d. 496 +8= e.391+5= f.157+9 =

Culting the rope and cash

a. Ben has a 435 m long rope. He needs 7 equal pieces. How long will each piece of rope be?2
b. Katlego has R180,00. He has to share it equally with his two brothers. How much will each boy get?2
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a.m. — any time in the morning between midnight and midday.
Example:
01:00 02:00 03:00 04:00 05:00 06:00

07:00 08:00 09:00 10:00 11:00 12:00

p.m. — any time in the afternoon or evening that is between midday and midnight.
Example:

13:00
19:00

14:00
20:00

15:00
21:00

16:00
22:00

17:00
23:00

18:00
24:00

1. Write down the times shown on the clock:

om b. Qom C.Qo.m. d.go.m. e.go.m.

-IOm Qp.m. or Qp.m. or p.m. or o.m.
), m, =, =, =
ie00
(;?(/7; (.-_::5_-_“;(/?91 { __:_;(/y; L [ (/yp
f. 2a.m. g. h. ,' 5p.m. "

. Write down the times shown on the clock:

C. Qo.m. d. Qo.m. e. Qo.m.
EZZQ

p.m. or p.m. or

&L,

10 19 12 18 14

L
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C. Qo.m. d. Qc.m. e. Qo.m.
or —Jpm. or —Jpm. or —Jpm.

([;““2:—7;/; /&:—_:——2?//% >([g—;//é

—— =

f. g. h. i j.

4. Draw the clock hands to show the following times on the clocks:

k. 01:25:03 |. 08:41:44 m. 16:50:57 n. 20:19:32 0. 23:37:59

Find in magazines

Find five pictures of watches in magazines, newspapers and advertisements.
Say why you would or would not buy it.

continued @
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) Calculate time continued

Every Saturday | do a mountain bike race. These are my finishing times for one
month. Which month was it?

1 hour 20 min

1 hour 15 min

1 hour 9 min

59 minutes

By how many minutes did | improve from my first to my fourth race?

5. Calculate the following:

Example: What is 2:45 + 1:10?
Add the hours:2+1=3

Add the minutes: 45 + 10 = 55 5 »
The answer is 3:55

a. 2210+ 1:30 = pb. 3:30 + 4:10 = c. 640+ 3:10=

6. Calculate the following:

Example: What is 2:45 + 1:207?
Add the hours: 2+ 1=3

Add the minutes: 45 + 20 = 5
The minutes are 60 or more,

so subtract 60 from minutes (65 — 60 = 5 minutes)
and add 1 fo hours (3 + 1 =4 hours)
The answer is 4:05

a. 1:10+ 2:55 = b. 4:40 + 3:30 = c. . 5:30 + 5:40 =

62

© 49 2 8 4 8 B 7 8 © 10 99 12 18



18 16 17 18 19 20 21

7. Calculate the following:

Example: What is 4:10 - 1:05?

Subtract the hours: 4 -1 =3

Subtract the minutes: 10-5=5

The minutes are OK, so the answer is 3:05

a. 1:40-1:20 = b. 7:30-4:20 =

c. 2.20-1:15=

8. Calculate the following:

Example: What is 4:10 - 1:35?

Subtract the hours: 4-1=3

Subtract the minutes:

10-35=-25

The minutes are less than 0,

so add 60 to minutes (60 — 25 = 35 minutes)
and subfract 1 from the hours (3 -1 =2 hours)
The answer is 2:35

a. 13:10-10:15= b. 4.20-3:30 =

c. 8:30-6:40 =

Time trials

1h 10'45" 1h 10'45™ 1h 10'45"

My friend and | did various physical activities and fimed ourselves. Here are the results on our two stopwatches.

What is the difference between our times?2

1h 10'45™

1h 10'45™

22 28 24 28 25 2y 23 20 v
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'f More Time

Century?
d l

Cent? Century?
Percent?
Centipedeg?

Millennium?
1

' Decade? l
Deca -

10.

P means 10

Decade means
P 10 years.

Oh, I think cent
means 100.

Yes, it has a
P 1 000 legs.

Yes, you are W

correci

Oh! And this is

a decagon. A

shape with ten
sides.

Oh, so millennium
means 1 000
years.

1. How many years are there in a:

" We do not write

“ the year 1920 as
2
o becade 1 920 because it~
b. Cenfury? "~ isadate,

c. Millennium?

2. Answer the following questions:
a. Let us count in decades.

1910, 1920, 1 930,

b. Let us count in centuries.

1100, 1 200, 1 300,

c. What millennium will come nexte

1 000, 2 000,
3. How many:

a. Decades are there in a century?

b. Centuries are there in a millennium?@

c. Decades are there in a millennium?

64
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4. Complete the following:

a. 2 decades =

c. 3 millennia =

e. 2 millennia =

g. 6 centuries =

i. 7 decades=

k. 9 millennia =

years
years
years
years
years

years

m. 2% millennia =

years

b. 3 centuries =

years

d. 9 centuries =

years

f. 4 decades=

years

h. 5 centuries =

j. 4 millennia =

years

years

[. 1% centuries =

years

n. 8% decades =

5. Complete the following. The example will guide you.

a. 1995 =1 millennium, 9 centuries, 9 decades, 5 years

years

p. 1852 =

c. 1603 =

d. 1999 =

e. 2010 =

6. What does “twenty ten” mean?
7. What does “He was born in the 20th century” mean?

8. What did people all over the world celebrate in 20007

How old am 1?

18 16 17 18 19 20 21

22 28 24 28 2B 2U

millennia
centuries
decades
years

Write your age in:
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Cooked porridge

1. Complete the table below on the food you prefer.

Cereal with added sugar

Cereal without added sugar

Bread

Fruit

Yoghurt

| don't eat breakfast

Bacon and eggs

Junk food

Healthy sandwich

Cooked meal

Junk food

Healthy sandwich

Cooked meal

2. Do you think you eat healthy food?

© 9 2 8 4 85 G 7
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3. You asked all the children in your class the same questions. These were ih!

responses. You still need to add up the tallies. Complete the last column.

Cooked porridge /- 11
Cereal with added sugar i

Cereal without added sugar Vi

Bread "

Fruit "

Yoghurt /"

| don’t eat breakfast yaa

Bacon and eggs

Junk food

/

m

Healthy sandwich

W

Cooked meal

Junk food

i

WM

Healthy sandwich

W/

Cooked meal

M W

a. What is the most common breakfaste
b. What is the least common breakfaste
c. What is the most common lunch?

d. Do most children eat a healthy or unhealthy lunch?

Why?

e. How many children eat a cooked meal for suppere
f. How many children don’t eat breakfast?

Do you think it is healthy?

g.ls bacon and eggs a favourite meal?

Whye

Why or why not?¢

18 16 17 18 19 20 21

Tally competition ...

In pairs see who can count the tallies the fastest.

Ve
W I I T T 0 T 0 I ) ol )
W 0 0 0 0 0 0 I

continued «;

22 28 24 286 265 2y 28 290 I

v

a‘i‘ﬁ ey




Dailia hdnd\ing continued

4. Compile a tally and frequency table with five categories using the information
below. We started the table for you by filling in the categories.

Name Exam score Name Exam score
Denise 55 Elias 65
John 45 Simon 30
Jason 85 Edward 25
Mathapelo 60 Susan 47
Beaftrix 79 Philip 64
Opelo 59 Ben 77
Lisa 53 Lauren 49
Gugu 90 Tefo 60
Sipho 63 Alice 46
Lerato 51 Musa 73
Exam Score Tally Frequency
categories
0-20
21-40
41- 60
61-80
81-100

5. You recorded the minimum temperatures per day for the past month.
The results are as follows:

12 13 9 10 11 12 11 7 11 10
10 7 8 12 12 8 13 8 9 ?
10 12 10 11 7 11 7 7 13 9
10

Set up a frequency table for this set of data values, grouping the data in six
groups with intervals of two. You will need extra paper for this question.

68
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6. Look at the data collected below and answer the questions.

750 ml

Juice
Water
Milk
Juice
Water
Milk
Juice
Milk
Milk
Juice
Milk
Juice
juice

Water
Milk
Milk

Water
Milk
Milk

Juice
Milk
Milk

Juice
Milk

Juice
Juice

Milk
Milk
Milk
Milk
Milk
Milk
Juice
Milk
Milk
Juice
Milk
Juice
Juice

Milk
Juice
Milk
Milk
Juice
Milk
Water
Juice
Milk
Water
Juice
Water
Water

You will need extra paper to complete these questions.

a. What are you going to collect?2 How will you do ite

b. How will you sort (organise) your data?e

c. Draw a bar graph.

d. Read the bar graph. Write a paragraph on your findings.

16 17 18 19 20 21

Tally competition ...

In pairs see who can count the tallies the fastest.

Ve
Ve
I I I T I T o 0 ) il I

Juice
Water
Juice
Juice
Water
Juice
Water
Water
Juice
Water
Water
Water
water

Water
Juice
Water
Water
Juice
Water
Water
Milk
Water
Water
Milk
Water
Water

What could the possible reason be for these talliese Create your
own scenario. Draw a bar graph to represent your scenario.

22 28 24 286 265 2y 28 290 I



2=D shapes

What is a polygon? Are all of these polygons? Are these the only polygons there are?

A H ¢

Triangle <:> Square I Pentagon

Rectangle Hexagon Heptagon Circle

1. Colour in all the quadrilaterals.

ONOC /e
7

2. Answer the following:

a. Is arectangle a quadrilateralz Whye

b. Is a square a quadrilateral? Why?2

70
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3. Mark the shape q, b or c. Identify the shapes with:

a. curved sides only
b. curved and straight sides
cC. straight sides only

0 & C
= C

4. Draw five of each. Note that they should look different from the 2-D shapes

above.
a. 2-D shapes with curved sides only.

b. 2-D shapes with curved and straight sides.

c. 2-D shapes with straight sides only

5. Find three shapes in nature or your environment with
e curved sides only
e curved and straight sides
 straight sides only
Make a drawing of each on a separate sheet of paper.

18 16 17 18 19 20 21 22 28 24 286 26

continued @

20 25 20 IV



235 ‘ 2=D shapes continued

6. Identify the following: Label under each shape.
Quadrilaterals; Pentagons; Hexagons; Heptagons/septagons.

p 47
VRS

7. Draw five of each, making sure they look different from the 2-D shapes above

a. Quadrilaterals

b. Pentagons

c. Hexagons

© 19 2 8 4 8 B ¥ & © 90 91 92 18 94



8. Draw the following:

Two right angles Two angles smaller than a

right angle

Two angles bigger than a
right angle

9. Describe each 2-D shape using the following:

c. Sides: same or unequal
length,(mark equal
sides)

a. Name of polygon b. Sides: straight or curved

f. Angles larger than a

d. Right angles (show e. Angles smaller than a

them). right angle (show them) right angle (show them)

i ii. iii. iv.

a. Name: a. Name: a. Name: a. Name:

b. Sides: b. Sides: b. Sides: b. Sides:

c. Sides: c. Sides: c. Sides: c. Sides:

d. Angles: d. Angles: d. Angles: d. Angles:

e. Angles: fe. Angles: e. Angles: e. Angles:

. . Angles:
f. Angles: 9 f. Angles: f. Angles:

18 16 17 18

Shape patterns

Draw a pattern using 5
different polygons.

10 20 241

22 28 24 28 25 2y 23 20 v




EFETVIT
Bt

1. These sets of bottles are filled with various quantities of cold drink. Answer the
questions below.

/q N\ /b N\ /C N\
o o | [ o o o || e o o
1 litre
\_ /L VAN J
6'..\gilli
[ Y fowm o ) o Y || o ) o o Y oo
\_ \_ J

J
i. What is the total capacity of each set of bottles (with bottles filled up to the top
measuring line)?

74
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ii. How much cool drink is there in each set of bottles?

Litres Millilitres Litres and millilitres | As a fraction of a litre
0.2%8 2 250 ml 21 250 ml %e
C.
d.
e.
2. Write the following as ¢ and ml.
3¢ 500 ml

a. 35¢= b. 2,7¢=

c.92¢= d. 4,4¢=

e. 7,250 ¢ = f. 8,320 ¢ =

g. 1,725¢= h. 10,76 ¢ =

i. 925¢= . 11,15¢=

3. Joan used 2,5 ¢ of water for making coffee, 60,5 ¢ for doing her washing and 3,5 ¢ or
washing dishes. How much water did she use altogether?

Confinue on an extra sheet of paper.

16 17 18 19 20 21
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4. Say what is the:
e capacity of each container Capacity is...
¢ volume of the liquid in each container Volume is...

» difference between full capacity and volume

Q. b.
Capacity: 500 ml Capacity:
Volume: 300 ml Volume:
Difference: 500 ml — 300 ml = 200 ml Difference:

5. 1 have a 1 000 ml container. It is filled to the 500 ml mark . What should | do to fill it
to full capacity?

6. Make drawings to illustrate your answers. Jabu has 1/ and 250 m / of water to water
his vegetables. Calculate how much the following people have.

76

© 9 2 8 4 8 G 7 8 © 10 99 912 18 14



&y
L /
a ) )
Sipho has Linda has 1 2 500 Jameshas 18 Cligles ens
fifth of what Jabu
double the ml to water her 100 ml to water
. has to water her
volume. vegetables. his vegetables.
\_ ) vegetables. )

7. Round your answers off to the nearest litre.

Drawing 1

Drawing 2

Drawing 3

Drawing 4

Millimetre fun . . .

Collect some junk mail. Find items where measurements
are given in millilitres and litre.

| need fo mix the juice concenfrate with water for us to
drink it. It says 1 & to 4 & of water. How much juice will |
have in fotal?
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Numbers 0 —20 000

How many of these blocks do you need to give you a total of 20 000 small cubes?

1. Complete the following:

a.10000 + 1000 + 800 + 40 + 2 =
.10 000 + 5000 + 300 + 60 + 9 =
c. 10000 + 4 000 + 700 + 6 =
d. 10000 + 8000 + 60 + 7 =
e.]OOOO+3=! |

2. Write the number in the correct column:

Number | Ten thousands | Thousands Hundreds Tens Units
a. | 15519
b. | 14901
c. | 18007
d. | 10040
e. | 10003

I£:
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3. Write the numbers in question 2 in words.

4. Complete the following using the first question to guide you.

Q.13 847 =1 ten thousand + 3 thousands + 8 hundreds + 4 tens + 7 units

continued @
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) Numbers 0 —20 000 confinued

5. Write the numbers in question 4 in words.

Confinue on an exfra sheet of paper.

6. Arrange the numbers from the smallest to the biggest.

a.15147,15471,15174,10 650

p.10231,10132, 10123, 10213

C.12541,12145,12154,12 415

d. 18 639, 18 369 , 18 693, 18 396

&L 10, 100, 110/5s18r, 110 555

7. Fillin < or >.

Q.9 248 9 284 . 10 320 10 230
G Il 121@11 2 d.12041|;12401
e. 13514 14514 f. 11212 12 121
.15 145 15154 h. 3798 3788
i. 19987 19 978 j. 16616 16 166

80

© 49 2 8 4 8 B 7 8 © 10 99 12 18



8. What is the value of the underlined digit?

a. 2548 . 14874
c. 10587 d. 16 354
e. 18201 f. 14008

9. Complete the following:

3 8 1 6 5

a. Use each digit once, make the smallest 5-digit number:

b. Use each digit once, make the largest 5-digit number:

c.You can use a digit twice, make the smallest 5-digit number:

d. You can use a digit twice, make the largest 5-digit number:

All about numbers

What you need: — Find af least five, 5-digit numbers in a newspaper.

Newspaper.

—  What is the meaning of the 5-digit number?

18 196 17 18 19 20 21 22 28 24 26 26 27 26 20 IV
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Mathematics Grade 5
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Mathematics Grade 5 Cut-out 2
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Mathematics Grade 5 Cut-out 3

Note: Make dice from these cut-outs. After assembling the dice, keep them in a safe place
because you will use them throughout the year.
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thousands ten thousands
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Mathematics Grade 5 Cut-out 6









